
1

1500W Infrared Heater 
Installation and operating Instructions

Thank you for purchasing a NewAge Product!

STOP

ATTENTION: Is your product damaged?

Need help or spare parts? For fastest service, contact NewAge 
Products at  1-877-306-8930;  or support@newageproducts.com. 
Do not return to the retailer.

Protected from water 
spray from any

direction

3D 
Heating Technology

Fast Heating

IM-PB3.27A-01-Rev1.1



2

IMPORTANT SAFEGUARDS

1.	 Please read the User Manual carefully before installing or operating the device. 
You will find important information inside the User Manual regarding mounting, 
safety, usage and maintenance. Thus you will both protect yourself and prevent 
the device from coming to harm.

2.	 CAUTION — This device is hot when in use. To avoid burns, do not let bare 
skin touch hot surfaces. Keep combustible materials, such as furniture, pillows, 
bedding, papers, clothes, etc. and curtains at least 0.9m / 2.96ft from the front of 
the heater and keep them away from the sides and rear.

3.	 Extreme caution is necessary when this product is used by or is near children or 
individuals and whenever the product is left operating and unattended.

4.	 Do not operate the product after it malfunctions. The electrical connection of the 
device must be separated from the mains during mounting and maintenance 
or repair works. Device must be unplugged to be separated from the mains. It is 
advised to have the device inspected by a reputable electrician before reusing.

5.	 Do not use the product outdoors. Household use only.
6.	 Do not insert or allow any foreign objects to enter any ventilation or exhaust 

opening as this may cause an electric shock or fire, or damage the product.
7.	 To prevent a possible fire, do not block air intakes or exhaust in any manner. Do 

not cover your heater in order to prevent excessive heating. Do not close the 
ventilation ducts and the wire part.

8.	 This heater has hot and arcing or sparking parts inside. Do not use it in areas 
where gasoline, paint or flammable vapors or liquids are used or sorted.

9.	 This device is manufactured in compliance with safety regulations. Use this 
product only as described in this manual. Any other use not recommended by 
the manufacturer may cause fire, electric shock or injury to persons.

10.	 This product includes an audible or visual alarm to warn that part of the product 
getting excessively hot. If alarm sounds (or illuminates), immediately turn the 
heater off and inspect for any objects on or adjacent to the heater that may have 
blocked the airflow or otherwise caused high temperatures to have occurred.  
DO NOT OPERATE THE HEATER WITH THE ALARM SOUNDING (OR ILLUMINATING). 

When using electrical appliances, basic precautions should always be followed to 
reduce the risk of fire, electric shock, and injury to persons, including the following:



3

11.	 If the power cord is damaged, it must be replaced by the manufacturer or 
its service agency or a personnel qualified in the same degree to prevent 
a dangerous situation. It must be checked whether there are breaks or 
deformations on the heating element present on the device. If glass panels are 
damaged, the heater must not be used. Authorized service must be called.

12.	 It must be ensured that the main power is 120 V AC, 60 Hz and the power line is 
connected to the fuse. Mains safety must be checked. Fuse must be 16 Amperes. 
Your device must be used with grounded socket and grounded socket must be 
outside the heater area and the hot surface. Also, it must be checked whether 
the socket is loose or damaged. Because loose sockets damage the device and 
the power main.

13.	 Your device must not be used connected to the same power cable or fuse with 
another device.

14.	 Power cord must not be left on the hot body of the device or near it.
15.	 If your device will not be used for a long period of time, if cleaning or 

maintenance will be conducted, the device must be unplugged. It must be 
ensured that the device has cooled down.

16.	 The device is not intended for use by persons (including children) with reduced 
physical, sensory and mental capabilities or lack of experience and knowledge, 
unless they have been given supervision or instruction concerning the use of the 
appliance by a person responsible for their safety.

17.	 Definitely do not let your device come into contact with water.
18.	 Ensure that the feed cable and the plug is clean and dust-free prior to use.
19.	 Never unplug the feed cable from the plug by tugging on the cable. Ensure that 

you hold the plug correctly as you plug it into or take it out of the socket. Do not 
touch the feed cable.

20.	 Do not make a joint to the feed cable. Otherwise,malfunction, electric shock or 
fire may occur.

21.	 Do not pass the feed cable under heavy objects. Otherwise, electric shock or fire 
risk may occur.

IMPORTANT SAFEGUARDS



4

22.	 Do not turn off your heater only by unplugging it or shutting down the fuse, 
always turn off by using the heater tube function button.

23.	 Fire risk exists if the heater is covered by or positioned close to curtains or other 
combustible materials.

24.	 The flame protector of this heater is for preventing direct access to heater 
elements and must be in place while the heater is in use.

25.	 Do not install the heater near a pool of water such as a swimming pool, bath or 
shower. 

26.	 Do not use your device outside its intended purpose.(Do not use it for drying 
clothes or keeping animals or plants warm.)

27.	 Never try to clean the device with solvents or flammable liquids.(lt may cause 
electric shock or fire).

28.	 Do not operate the device while sleeping or while away from where the device is 
located.

29.	 Refrain from using extending cord, it might cause fire due to overheating. If you 
have to use an extending cord, the cable cross section must be at least 2 mm2 
(14AWG).

30.	 The device must be on a level and smooth surface during use. Do not operate 
your device on unstable or unsafe surfaces.

31.	 Do not try to disassemble or repair the heater. Never shake the heater.
32.	 A faint smoke and smell might form during the first use of your device. This is 

normal. Do not touch the device while running or right after operation.
33.	 Device must be unplugged before cleaning. Do not clean your device with vapor 

cleaners.
34.	 Children should be supervised to ensure that they do not play with the 

appliance. Flame protector does not provide a full protection for small children 
and handicapped people.

35.	 Store your device in dry and enclosed locations. 
 
 
 
 

IMPORTANT SAFEGUARDS



5

Safe distances : High Temperature, fire protection

SAVE THESE INSTRUCTIONS

1. Do not install less than 6 feet (or 1.8 meters) from the floor.
2. Min. 1 meter distance must be between the device and curtains, wood, 

cardboard fabric etc. Materials, living things and other devices.
3. Fingers or other object must not be protruded into the protective cage wire.
4. The heater must not be located in front of a socket-outlet.
5. Do not move the device while turned on. Always shut off the device before 

touching and wait for it to cool down. This heater should not be equipped with a 
device for controlling the room temperature. Unless constant control is ensured, 
do not use this heater in small rooms used by people who cannot leave their 
rooms.

WARNING: This heater is not equipped with a device to control the room
temperature. Do not use this heater in small rooms when they are occupied by 
persons not capable of leaving the room on their own, unless constant supervision is 
provided.

36. Children aged from 3 years and less than 8 years shall only switch on/off the
appliance provided that it has been placed or installed in its intended normal
operating position and they have been given supervision or instruction
concerning use of the appliance in a safe way and understand the hazards
involved. Children aged from 3 years and less than 8 years shall not plug in,
regulate and clean the appliance or perform user maintenance.

37. Children of less than 3 age should be kept away unless continuously supervised.
38. The heater must not be used if the glass heating elements are damaged.
39. The expected life of this product is ten years.

IMPORTANT SAFEGUARDS



Scan this QR code with the camera 
on your mobile device to visit the 
NewAge Products Support Hub

www.newageproducts.com/support-hub/

Register your NewAge Products purchase online for quicker 
customer assistance and access to exclusive benefits

Visit www.newageproducts.com/register/

Warranty Claim
For warranty service please contact NewAge Products at 
1-877-306-8930; or support@newageproducts.com
Please review all warranty details below, prior to 
contacting NewAge Products for a claim.

Scan the QR code on the right to access our support page or
visit www.newageproducts.com/contact-us/

PROOF OF PURCHASE IS REQUIRED 
TO OBTAIN WARRANTY SERVICE. 

Please have the following information available 
when you call our customer service team:

• Name, address and telephone number
• Product Name / SKU Number
• A clear, detailed description of the problem
• Proof of purchase including order number

NEWAGE PRODUCTS INC. INFRARED 
HEATER MANUFACTURER WARRANTY

ONE YEAR LIMITED WARRANTY
WHAT IS COVERED

When this product is installed, operated and maintained according to the instructions attached to or furnished 
with the product, NewAge Products Inc. will replace the defective product or parts if the part fails as a result of 
defective materials or workmanship for the warranty duration from the purchase date of the product.

1.	 Service calls to correct the installation of any NewAge products or to instruct you how to use or install them.
2.	 Damage resulting from products caused by accident, misuse, abuse, fire, flood, improper installation, acts of 

God, neglect, modification or mishandling.
3.	 Repairs or replacement when your product is used in other than normal, residential use, such as a commercial 

environment, or handled in anyway inconsistent with the installation instructions included with the product.
4.	 Cosmetic damage, including scratches, dings, dents or cracks in paint that do not affect the structural or 

functional capability of the product.
5.	 Surfaces damaged due to improper use of chemicals, and detergents.
6.	 Replacement parts for NewAge products outside Canada and the United States.
7.	 Loss due to theft.
8.	 Damage resulting from use of the product contrary and not in accordance to the instruction manual.
9.	 Any labor costs during the warranty period.

DISCLAIMER OF IMPLIED WARRANTIES
IMPLIED WARRANTIES, INCLUDING TO THE EXTENT APPLICABLE WARRANTIES OF MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE, 
ARE EXCLUDED TO THE EXTENT LEGALLY PERMISSIBLE. ANY IMPLIED WARRANTIES THAT MAY BE IMPOSED BY LAW ARE LIMITED TO ONE YEAR, 
OR THE SHORTEST PERIOD ALLOWED BY LAW. THIS WARRANTY IS LIMITED TO THE ORIGINAL BUYER. Some states and provinces do not allow 
limitations on the duration of implied warranties of merchantability or fitness, so this limitation may not apply to you. This warranty gives you specific 
legal rights, and you also may have other rights that vary from state to state or province to province.

LIMITATION OF REMEDIES; EXCLUSION OF INCIDENTAL AND CONSEQUENTIAL DAMAGES
YOUR SOLE AND EXCLUSIVE REMEDY UNDER THIS LIMITED WARRANTY SHALL BE PRODUCT REPAIR OR REPLACEMENT AT 
OUR DISCRETION AS PROVIDED HEREIN. NEWAGE SHALL NOT BE LIABLE FOR INCIDENTAL OR CONSEQUENTIAL DAMAGES. 
Some states and provinces do not allow the exclusion or limitation of incidental or consequential damages, so these limitations 
and exclusions may not apply to you. This warranty gives you specific legal rights, and you also may have other rights that vary 
from state to state or province to province.

WHAT IS NOT COVERED



7

Product Specifications

Protective 
cage wire

ON/OFF Function 
button

Plastic grid
Carbon �ament 

(heating element)

A

C

B

Width (W) 803 mm

Depth (D) 104 mm

Height (H) 181 mm

Total Power 1500W

Feed (V/Hz) 120 V AC, 60 Hz

1st Level 600W

2nd Level 900W

3rd Level 1500W

Thermostat

Remote Control

Control Panel



8

Parts Supplied

Accessories (Option)

2x Heater Brackets

4 x Allen bolt (M6X10)

4 x Allen bolt 
(M5X10)

1 x Allen bolt 
(M5X15)

Slatwall Mounting 
Brackets - Upper and 

Lower

Slatwall Kit

4 x Drywall Plastic Anchors 
with Phillips Screws

1x Heater Mounting 
Bracket



9

There must be a minimum distance of 0,50m between the heater and adjacent walls and ceiling. In both wall and 
ceiling installations, the heater must be at least 1.8 m high to avoid touching the heater during use. Before  
drilling, make sure that there are no cables or any water pipes in the area where the heater is to be installed. The 
heater must be connected with the installation equipment provided.

When installing the heater horizontally on the wall, it should not be positioned at an angle of less than 60° and 
more than 90° (Figure A)

W
A

LL

W
A

LL

CEILING

0.50m

MIN.
60,00°

MAX.
90,00°

60,00°

1.
80

 m

0.50m

FLOOR

Figure A

Wall Connection Diagram



10

Using of your heater
• Connect the device to a suitable grounding socket.
• Set the power switch to the operating position.

CAUTION
To disconnect the heater,  turn the controls off and turn off the power to the heater at the main 
disconnect panel (or operate internal disconnect switch if provided). 

L3

Control Panel

LCD Display

Power ON/OFF Button

min. 1m

min. 0.50m

min.0.50m

min.1.80m



11

Installing the heater on wall

3 4

2

Dry wall 
Anchors Drill (17/64” bit)

Phillips Screw Driver

Phillips Screws

Heater Mounting
Bracket

Heater Mounting
 BracketMarker

Wall

Level
1

Heater Brackets

Pre-tighten Allen bolts loosely 
on the heater brackets. Allen bolt M6X10

Allen Key

5

Allen Key

Make sure to keep the sliding Heater Brackets outer side with reference to the Heater Mounting Bracket.

Adjust the Heater  
Brackets and loosely install the Allen 

bolt M6X10



12

30-35° UP

30-35° DOWN

Adjust the mounting angle of the heater and tighten the bolts.

Installing the heater on wall

6 7

Allen bolt M6X10

Allen Key



13

Allen Key

Allen Key

Installing the heater on NewAge Slatwall (Option)

3

4

2

Upper Mounting Bracket

Lower Mounting Bracket

Slatwall

Slatwall

Allen bolt  
M6X10

Allen bolt  
M5X10

Lightly hand tighten the Allen 
bolt (M5x15) to prevent the 

bracket from sliding off.

Adjust the Heater  
Brackets and loosely install the Allen bolts

1

Heater Brackets

Pre-tighten Allen bolts loosely 
on the heater brackets. Allen bolt M6X10

Heater Mounting Bracket

Allen bolt 
M5X10

Allen Key
Allen Key

Slatwall

Lower Mounting 
Bracket

Upper Mounting 
Bracket Heater 

Mounting 
Bracket

Make sure to keep the sliding Heater Brack-
ets outer side with reference to the Heater 
Mounting Bracket.

Tuck the lower mounting bracket behind the heater mounting bracket.



14

Slatwall

Allen Key5

Slatwall

Allen bolt  
M6X10

Tighten the 
Allen bolts and 

fix both the  
Heater Brackets

Installing the heater on NewAge Slatwall (Option)

30-35° UP

30-35° DOWN

6 7

Adjust the mounting angle of the heater and tighten the bolts.
Allen bolt M6X10

Allen Key



15

Remote Control

MAX

MODE

MAX

MODE

MAX

MODE

MAX

MODE

MAX

MODE

MAX

MODE

MAX

MODE

As shown in figure 1 below, the tabs are pushed in the direction of the arrow and simultaneously
pulled in the direction of the arrow in figure 2 and the battery is replaced. A new battery is
installed in the same way. Only CR2032 battery should be used.

This key is used for switching the appliance on and 

off.

Used increasing the level, temperature and timer 

settings.

Used decreasing the level, temperature and timer 

settings.

Heater level setting: Heater switches to power control 
mode. Allows level setting between 3 levels using the 
+ and - keys. Displays L1, L2, L3 by signalling for 0.2 
seconds at each step. If the heater is in power control 
mode, appliance operates at maximum level when 
the max button is pressed.

Thermostat switch: Switches to temperature setting 
mode. Performs temperature setting from 10 to 40 
degrees with the + and - keys. Press mode button to 
save the set temperature. User is required to press 
this button once only to see the set temperature. 
Signals for 0.3 seconds at each step.

Timer key: Switches to timer mode by flashing on the 
display, and timing may be set up to 9 hours with the 
+ and - keys. Press this key again to save the timing 
after setting it. User is required to press this button 
once only to see the remaining time. 1H, 9H are 
displayed on the screen.

Note: When the timer of the appliance is active, the point on the right of the screen flashes. 1L ,
2L ...: Indicates the power level of the heater. 1H, 2H ...: Heater timer display (May be programmed up to 9 
hours. ). Er1: Overheating.

1 2

CR2032

Remote



16

Maintenance and cleaning

Attention! Regular and careful cleaning performed by the user will ensure that your device will run 
more efficiently and prolong its life.

It is very important to perform careful and regular maintenance of the device in accordance with the 
recommendations made in this manual so that it can run efficiently for a long time.

1.	 The cleanliness of the reflector (reflecting mirror) and tubes must be checked at least once a 
month by the user. The cleaning and maintenance instruction must be applied if dirty.

2.	 According to the amount of dust in the place of use, checking the tubes and cleanliness of the 
reflector should be performed more often. 

3.	 Power cable and plug must be checked while cleaning the device. If there is a deformation in the 
power cord or the plug, it must be taken to the authorized service.

4.	 Reflector, wire and body deformation must be visually inspected while cleaning the device. If there 
is a deformation, authorized service must be called for things to do.

5.	 It is recommended that the reflector is changed every two years for the device to run more 
efficiently. Reflector must be changed by the authorized service. A clean reflector ensures the 
maximum level of heating efficiency.

1.	 Your device must be turned off before starting to clean, its power cord must be unplugged from 
the socket for safety and you must wait until it cools down.

2.	 If the reflector (reflecting mirror) and carbon filament tube is dirty, it must be cleaned from the 
outside with dry air without opening the protective cage wire of the device, if possible.

3.	 The outer surface of the device must be cleaned with a soft cotton cloth or a soft brush.
4.	 Never use corrosive or melting liquids to clean the heater. These materials may damage the plastic 

parts.
5.	 Do not clean your device using vapor cleaners.

Maintenance

Cleaning



17

Troubleshooting
Please check the points below before calling the technical service about the problems you might 
encounter with your device.

This device is labeled, in accordance with Council Directive 2002/96/EC, 
with a symbol of a crossed garbage container. This labeling means that 
the device, upon end of its life cycle, should not be disposed of together 
with other house hold waste. The user is responsible for having the 
device collected by appropriate entities responsible for disposal of used 
electrical and electronic devices. Appropriate disposal of used electrical 
and electronic devices allows to avoid hazards to the humans and the 
environment connected with inappropriate storage and processing of 
such devices.

Problems Solutions

Device does not run • Check whether the plug is plugged into the socket
correctly.

• Ensure the device is in balanced position. (Your device
has balance safety.)

• Ensure that the running switch and the thermostat of
the device are in correct, open position.

• Check whether there is a problem in the house’s electri-
cal installation.

• Ensure you follow the using instructions.

• If the problem persists, contact the nearest authorized
service.



18

Chauffage Infrarouge 1500W
Instructions d’Installation et d’utilisation

Merci d’avoir acheté un produit NewAge!

arrêt

ATTENTION: Votre produit est endommagé?

Besoin d’aide ou de pièces détachées? Pour un service plus
rapide, contactez les produits NewAge au 1-877-306-8930; ou
support@newageproducts.com. Ne retournez pas au détaillant.

Protégé contre les écla-
boussures d’eau de tout 

direction

3D 
Technologie De Chauffage

Chauffage 
Rapide

IM-PB3.27A-01-Rev1.1



19

Consignes De Sécurité

1. Veuillez lire le manuel d’utilisation soigneusement avant d’installer
ou d’utiliser l’appareil. Vous trouverez des informations importantes
dans le Manuel d’utilisation concernant le montage, la sécurité, le
fonctionnement et la maintenance. Ainsi, vous vous protégerez et
empêcherez l’appareil de nuire.

2. ATTENTION - Cet appareil est chaud lorsqu’il est utilisé. Pour éviter les
brûlures, ne laissez pas la peau nue toucher les surfaces chaudes. Gardez
les matériaux combustibles, tels que les meubles, oreillers, literie, papier,
vêtements, etc.et rideaux au moins 0.9 m / 2.96 ft de l’avant de l’appareil
de chauffage et les tenir à l’écart des côtés et à l’arrière.

3. Une extrême prudence est requise lorsque ce produit est utilisé par
ou près d’enfants ou de personnes et lorsque le produit est laissé en
fonctionnement sans surveillance.

4. N’utilisez pas le produit après un dysfonctionnement. La connexion
électrique de l’appareil doit être séparée du secteur pendant les
travaux de montage et d’entretien ou de réparation. L’appareil doit être
déconnecté pour être séparé du secteur. Il est conseillé de faire inspecter
l’appareil par un électricien réputé avant de le réutiliser.

5. Ne pas utiliser le produit à l’extérieur. À la maison seulement.
6. Ne pas insérer ou laisser des corps étrangers pénétrer dans une ouverture

de ventilation ou d’échappement, car cela pourrait provoquer un choc
électrique ou un incendie, ou endommager le produit.

7. Pour éviter un éventuel incendie, ne bloquez en aucun cas les entrées
d’air ou les gaz d’échappement. Ne couvrez pas votre appareil de
chauffage pour éviter un échauffement excessif. Ne fermez pas les
conduits de ventilation et la partie de fil.

8. Cet appareil de chauffage a chaud et arc ou étincelles pièces à l’intérieur.
Ne pas utiliser dans des zones où de l’essence, de la peinture ou des
vapeurs ou liquides inflammables sont utilisés ou triés.

Lors de l'utilisation d'appareils électriques, les précautions de base doivent 
toujours être suivies pour réduire le risque d'incendie, de choc électrique et 
de blessures, notamment les suivantes:



20

9. Cet appareil est fabriqué conformément aux règles de sécurité. Utiliser ce
produit uniquement comme décrit dans ce manuel. Toute autre utilisation
non recommandée par le fabricant peut provoquer un incendie, un choc
électrique ou des blessures.

10. Ce produit comprend une alarme sonore ou visuelle pour avertir
qu’une partie du produit devient excessivement chaude. Si l’alarme
retentit (ou s’allume), éteignez immédiatement l’appareil de chauffage
et inspectez tout objet sur ou adjacent à l’appareil de chauffage qui
pourrait avoir bloqué le flux d’air ou causé des températures élevées.  NE
FAITES PAS FONCTIONNER LE CHAUFFAGE AVEC L’ALARME SONORE (OU
L’ILLUMINANT).

11. Si le câble d’alimentation est endommagé, il doit être remplacé par le
fabricant ou son service après-vente ou par un personnel qualifié dans
le même degré pour éviter une situation dangereuse. vérifier s’il y a
des ruptures ou des déformations sur l’élément chauffant présent sur
l’appareil. Si les panneaux de verre sont endommagés, l’appareil de
chauffage ne doit pas être utilisé. Le service agrée doit être appelé.

12. Il faut s’assurer que l’alimentation principale est de 120 V AC, 60 Hz et que
la ligne électrique est connectée au fusible. La sécurité du réseau doit être
vérifiée. Le fusible doit être de 16 Ampères. Votre appareil doit être utilisé
avec une prise de courant mise à la terre et la prise de courant mise à la
terre doit se trouver à l’extérieur de la zone de chauffage et de la surface
chaude. De plus, il faut vérifier si la douille est desserrée ou endommagée.

13. Les prises détendues peuvent endommager l’appareil et le réseau
électrique.

14. Votre appareil ne doit pas être utilisé connecté au même câble
d’alimentation ou relié à un autre appareil.

15. Le câble d’alimentation ne doit pas être laissé sur le corps chaud de
l’appareil ou à proximité de ce dernier

Consignes De Sécurité



21

16. Si votre appareil n’est pas utilisé pendant une longue période, si
un nettoyage ou un entretien doit être effectué, l’appareil doit être
débranché. Il faut s’assurer que l’appareil s’est refroidi.

17. Cet appareil n’est pas conçu pour être utilisé par des personnes (y compris
les enfants) dont les capacités physiques, sensorielles et mentales sont
réduites ou par des personnes sans expérience et connaissances, à moins
qu’elles n’aient été formées et encadrées pour l’utilisation de cet appareil
par une personne responsable de leur sécurité.

18. Ne laissez pas votre appareil entrer en contact avec l’eau.
19. Assurez-vous que le câble d’alimentation et la prise soient propres et

exempts de poussière avant l’utilisation.
20. Ne débranchez jamais le câble d’alimentation de la prise en tirant sur

le câble. Assurez-vous de tenir correctement la fiche lorsque vous la
branchez ou la retirez de la prise. Ne touchez pas le câble d’alimentation.

21. Ne pas faire un joint au câble d’alimentation. Sinon, un
dysfonctionnement, un choc électrique ou un incendie pourrait se
produire.

22. Ne passez pas le câble d’alimentation sous des objets lourds. Sinon, il y a
risque d’électrocution ou d’incendie.

23. N’éteignez pas votre appareil de chauffage uniquement en le
débranchant ou en coupant le fusible ; éteignez-le toujours à l’aide de la
touche de fonction du tube de l’appareil de chauffage.

24. Il y a risque d’incendie si l’appareil de chauffage est recouvert de rideaux
ou d’autres matériaux combustibles ou s’il est placé près de ce dernier.

25. Le protecteur de flamme de cet appareil de chauffage sert à empêcher
l’accès direct aux éléments chauffants et doit être en place lorsque
l’appareil de chauffage est en service.

26. N’utilisez pas cet appareil de chauffage à proximité immédiate d’un bain,
d’une douche ou d’une piscine.

27. N’utilisez pas votre appareil en dehors de son usage prévu (ne l’utilisez
pas pour sécher les vêtements ou garder les animaux ou les plantes au
chaud).

Consignes De Sécurité



22

28. N’essayez jamais de nettoyer l’appareil avec des solvants ou des liquides
inflammables. (Risque d’électrocution ou d’incendie)

29. N’utilisez pas l’appareil pendant que vous dormez ou que vous vous
éloignez de l’endroit où se trouve l’appareil.

30. Si vous n’utilisez pas de rallonge, cela pourrait provoquer un incendie dû à
une surchauffe. Si vous devez utiliser un cordon de rallonge, la section du
câble doit être d’au moins 2 mm2 (14 AWG).

31. L’appareil doit se trouver sur une surface plate et lisse pendant
l’utilisation. N’utilisez pas votre appareil sur des surfaces instables ou
dangereuses.

32. N’essayez pas de démonter ou de réparer l’appareil. Ne secouez jamais le
radiateur.

33. Une légère fumée et une légère odeur peuvent se former lors de la
première utilisation de votre appareil. C’est normal. Ne touchez pas
l’appareil en cours de fonctionnement ou juste après l’utilisation.

34. L’appareil doit être débranché avant le nettoyage. Ne nettoyez pas votre
appareil avec des nettoyants à vapeur.

35. Les enfants doivent être surveillés afin de s’assurer qu’ils ne jouent pas
avec l’appareil. Le protecteur de flamme n’offre pas une protection
complète pour les jeunes enfants et les personnes a mobilité réduite.

36. Rangez votre appareil dans un endroit sec et fermé.
37. Les enfants âgés de 3 ans à moins de 8 ans ne doivent allumer /

éteindre l’appareil que s’il a été placé ou installé dans la position de
fonctionnement normale prévue et si une surveillance ou des instructions
concernant l’utilisation de l’appareil de manière sûre et comprendre les
risques encourus. Les enfants âgés de 3 ans à moins de 8 ans ne doivent
pas brancher, régler et nettoyer l’appareil ni effectuer d’entretien par
l’utilisateur.

Consignes De Sécurité



23

Consignes De Sécurité

Distances de sécurité pour la protection contre l’incendie

AVERTISSEMENT: Cet appareil n’est pas équipé d’un dispositif de contrôle 
de la température ambiante.

1. “No instale a menos de 6 pies (o 1,8 metros) del piso”
2. Une distance minimale de 1 mètre doit être respectée entre l’appareil et

les rideaux, le bois, le carton, le tissu, etc. Matériaux, êtres vivants et autres
dispositifs.

3. Ne pas insérer un doigt ou un objet dans le fil de la cage de protection.
4. L’appareil de chauffage ne doit pas se trouver devant une prise de

courant.
5. Ne déplacez pas l’appareil pendant qu’il est en marche. Toujours éteindre

l’appareil avant de le toucher et attendre qu’il refroidisse. Cet appareil de
chauffage n’est pas équipé d’un dispositif de régulation de la température
ambiante. À moins qu’un contrôle constant ne soit assuré, n’utilisez
pas cet appareil de chauffage dans de petites pièces utilisées par des
personnes qui ne peuvent pas quitter leur pièce.

38. Les enfants de moins de 3 ans doivent être tenus à l’écart, à moins d’être
surveillés en permanence.

39. L’appareil de chauffage ne doit pas être utilisé si les éléments chauffants
en verre sont endommagés.

40. ATTENTION — Certaines parties de ce produit peuvent devenir très
chaudes et causer des brûlures. Une attention particulière doit être
accordée aux endroits où se trouvent des enfants et des personnes
vulnérables.

41. La durée de vie prévue de ce produit est de dix ans.

ENREGISTREZ CES INSTRUCTIONS



Scannez ce code QR avec l’appareil photo
sur votre appareil mobile pour visiter le

Centre d’assistance des produits NewAge
www.newageproducts.com/support-hub/

Enregistrez votre achat de produits NewAge en ligne pour  
l’assistance aux clients et l’accès à des avantages exclusifs

Visite www.newageproducts.com/register/

Réclamations de garantie
Pour le service de garantie, veuillez contacter NewAge Products au
1-877-306-8930; ou support@newageproducts.com
Veuillez consulter tous les détails de la garantie ci-dessous, avant

contacter NewAge Products pour une réclamation.

Scannez le code QR à droite pour accéder à notre page d’assistance 
ou visite www.newageproducts.com/contact-us/

UNE PREUVE D’ACHAT EST REQUISE

POUR OBTENIR UN SERVICE DE GARANTIE. 

Veuillez disposer des informations suivantes 

lorsque vous appelez notre service clientèle:

• Nom, adresse et numéro de téléphone
• Nom du produit / numéro de SKU
• Une description claire et détaillée du 
problème
• Preuve d’achat avec numéro de commande

NEWAGE PRODUCTS INC. GARANTIE DU 
FABRICANT DE CHAUFFAGE INFRAROUGE

GARANTIE LIMITÉE D’UN AN
CE QUI EST COUVERT

Lorsque ce produit est installé, utilisé et entretenu conformément aux instructions jointes ou fournies avec le produit, NewAge Products Inc. 
remplacera le produit ou les pièces défectueux si la pièce tombe en panne en raison de matériaux défectueux ou de fabrication pendant la durée 
de la garantie à partir du date d’achat du produit.

1.	 Les appels de service pour corriger l’installation de tout produit NewAge ou pour vous montrer comment les utiliser ou les 
installer.

2.	 Les dommages résultant de produits causés par un accident, une auvaise utilisation, un abus, un incendie, une inondation, une 
installation incorrecte, un cas de force majeure, une négligence, une modification ou une mauvaise manipulation.

3.	 Les réparations ou le remplacement lorsque votre produit est utilisé pour un usage autre que résidentiel normal, comme un 
milieu commercial, ou portatif d’une manière incohérente avec les instructions d’installation.

4.	 Les dommages cosmétiques, y compris les éraflures, les marques, les entailles ou les fissures dans la peinture qui n’affectent 
pas la capacité fonctionnelle ou structurelle du produit.

5.	 Surfaces endommagées en raison d’une mauvaise utilisation de produits chimiques et de détergents.
6.	 Les pièces de rechange pour des produits NewAge à l’extérieur du Canada et des États-Unis.
7.	 Une perte en raison d’un vol.
8.	 Les dommages résultant d’une utilisation contraire du produit et non conforme au manuel d’instructions.
9.	 Tous les frais de main-d’oeuvre pendant la période de garantie.

EXCLUSION DE GARANTIES IMPLICITES
LES GARANTIES IMPLICITES, Y COMPRIS, DANS LA MESURE OÙ CELA EST APPLICABLE, LES GARANTIES DE QUALITÉ MARCHANDE OU DE 
CONFORMITÉ À UN USAGE PARTICULIER, SONT EXCLUES DANS LA LIMITE OÙ LA LOI LE PERMET. TOUTE GARANTIE IMPLICITE QUI POURRAIT 
ÊTRE IMPOSÉE PAR LA LOI DOIT SE LIMITER À UN AN, OU À LA PÉRIODE LA PLUS COURTE PERMISE PAR LA LOI. CETTE GARANTIE EST LIMITÉE 
À L’ACHETEUR ORIGINAL. Certains états et provinces n’autorisent pas les limitations de durée des garanties implicites de qualité marchande ou 
d’adéquation, de sorte que cette limitation peut ne pas s’appliquer à vous. Cette garantie vous donne des droits légaux spécifiques, et vous pouvez 
également avoir d’autres droits qui varient d’un état à l’autre ou d’une province à l’autre.

LIMITATION DES RECOURS; EXCLUSION DES DOMMAGES ACCESSOIRES ET CONSÉCUTIFS
VOTRE SEUL ET EXCLUSIF RECOURS EN VERTU DE CETTE GARANTIE LIMITÉE SERA LA RÉPARATION OU LE REMPLACEMENT DU PRODUIT À NOTRE 
DISCRÉTION COMME PRÉVU ICI. NEWAGE NE SERA PAS RESPONSABLE DES DOMMAGES ACCESSOIRES OU INDIRECTS. Certains états et provinces 
n’autorisent pas l’exclusion ou la limitation des dommages accessoires ou consécutifs, de sorte que ces limitations et exclusions peuvent ne pas 
s’appliquer à vous. Cette garantie vous donne des droits légaux spécifiques, et vous pouvez également avoir d’autres droits qui varient d’un état à l’autre 
ou d’une province à l’autre.

CE QUI N’EST PAS COUVERT



25

Spécifications Du Produit

Fil de cage de
protection

Bouton de
fonction

Grille plastique
Filament de carbone

(élément dechau�age)

A

C

B

Largeur (W) 803 mm

Profondeur (D) 104 mm

Hauteur (H) 181 mm

Puissance 
Totale

1500W

Alimentation 
(V/Hz)

120 V AC, 60 Hz

1. Niveau 600W

2. Niveau 900W

3. Niveau 1500W

Thermostat

Télécommande

Panneau
commande



26

Pièces Fournies

Accessoires optionnels

2x Chauffe-Support

4 x Boulon Allen
(M6X10)

4 x Boulon Allen
(M5X10)

Supports de Montage 
Slatwall - Supérieur et 

Inférieur

Kit De Slatwall

4 x Ancrages en plastique
pour cloisons sèches avec

vis Phillips

1x Mur Supports De
Montage

1 x Boulon Allen
(M5X15)



27

Il doit y avoir une distance minimale de 0,50 m entre le chauffage et les murs et le plafond adjacents. Dans les 
installations murales et au plafond, le chauffage doit être d’au moins 1,8 m de haut pour éviter de toucher le 
chauffage pendant l’utilisation.Avant de percer, assurez-vous qu’il n’y a pas de câbles ou de conduites d’eau dans la 
zone où le chauffage doit être installé. Le chauffage doit être connecté à l’équipement d’installation fourni.

Lors de l’installation de l’appareil de chauffage horizontalement sur le mur, il ne doit pas être positionné à un angle 
inférieur à 60° et supérieur à 90° (Figure A)

M
ur

M
ur

Plafond

0,50m

MIN.
60,00°

MAX.
90,00°

60,00°

1,
80

 m

0,50m

plancher

Figure A

Schéma de raccordement mural



28

Utilisation de votre appareil de chauffage
• Connectez l’appareil à une mise à la terre douille 
• Réglez l’interrupteur à la position de fonctionnement.

Mise en garde :
Pour déconnecter le réchauffeur, éteignez les commandes et coupez l'alimentation du réchauffeur au 
niveau du panneau de déconnexion principal (ou activez le sectionneur interne si fourni).

L3

Panneau de commande

Affichage LCD
Bouton de fonction

Marche / Arrêt

min. 1m

min. 0.50m

min.0.50m

min.1.80m



29

L’Installation de l’appareil de chauffage sur le mur

3 4

2

Ancres sèches de mur

Forage (17/64” foret)

Tournevis Cruciforme

Vis Phillips

 Mur Supports De
Montage

 Mur Supports De
MontageMarqueur

Mur1

Chauffe-Support

Boulon 
Allen M6X10Clé Allen

Niveau

5

Clé Allen Ajustez les supports de chauffage et 
installez sans serrer le boulon Allen 

M6X10



30

30-35° UP

30-35° DOWN

Ajustez l’angle de montage de l’appareil de chauffage et serrer les boulons.

L’Installation de l’appareil de chauffage sur le mur

6 7

Boulon 
Allen M6X10

Clé Allen

De 30 à 35° 
VERS LE HAUT

De 30 à 35° vers 
le bas



31

Installation de chauffage sur Lattes Newage (en option)

Clé Allen

Clé Allen

3

4

2

Support De Montage Supérieur

Support De Montage Inférieur

Slatwall

Slatwall

Boulon Allen 
M6X10

Serrez légèrement le boulon Allen 
(M5x15) à la main pour éviter que le 

support ne glisse.

Boulon Allen  
M5X10

Ajuster le chauffage
Supports et serrez les boulons Allen

1

Chauffe-Support

Serrez sans serrer les boulons Al-
len sur les supports de chauffage.

Boulon 
Allen M6X10

Mur Supports De
Montage

Boulon 
Allen  

M5X10

Clé Allen Clé Allen

Slatwall

Support De  
Montage Inférieur

Support De 
Montage 
Supérieur

Mur 
Supports 

De
Montage

Avant de serrer, assurez-vous de garder le côté 
extérieur des supports de chauffage coulis-
sants avec référence au support de montage de 
l’appareil de chauffage.

Rentrez le support de montage inférieur derrière le support de montage du chauffage.



32

Clé Allen5

Slatwall

Boulon Allen 
M6X10

Pré-serrez les 
boulons Allen 
sans serrer les 
supports de 
chauffage.

Installation de chauffage sur Lattes Newage (en option)

30-35° UP

30-35° DOWN

6 7

Ajustez l’angle de montage de l’appareil de chauffage et serrer les boulons.
Boulon Allen M6X10

Clé Allen

Slatwall

De 30 à 35° 
VERS LE HAUT

De 30 à 35° vers 
le bas



33

Télécommande

MAX

MODE

MAX

MODE

MAX

MODE

MAX

MODE

MAX

MODE

MAX

MODE

MAX

MODE

Cette touche sert à allumer et éteindre l’appareil.

Utilisé pour augmenter le niveau, la température et la

minuterie.

Utilisé pour diminuer le niveau, la température et les 

réglages de la minu

Réglage du niveau de chauffage : Le chauffage passe 
en mode de contrôle de puissance. Permet de régler 
le niveau entre 3 niveaux à l’aide des touches + et -. 
Affiche L1, L2, L3 en signalant pendant 0,2 seconde 
à chaque pas. Si l’appareil de chauffage est en mode 
de contrôle de puissance, il fonctionne au niveau 
maximum lorsque vous appuyez sur la touche maxi.

Interrupteur de thermostat : Passe en mode de 
réglage de la température. Effectue le réglage de la 
température de 10 à 40 degrés avec les touches + 
et -. Appuyez sur la touche mode pour enregistrer 
la température réglée. L’utilisateur doit appuyer une 
seule fois sur cette touche pour voir la température 
réglée. Signaux pendant 0,3 seconde à chaque pas.

Touche de minuterie: Passe en mode minuterie en 
clignotant sur l’écran, et la minuterie peut être réglée 
jusqu’à 9 heures à l’aide des touches + et -. Appuyez 
de nouveau sur cette touche pour enregistrer le 
chronométrage après l’avoir réglé. L’utilisateur doit 
appuyer une seule fois sur ce bouton pour voir le 
temps restant. 1H, 9H s’affichent à l’écran.

Remarque : Lorsque la minuterie de l’appareil est active, le point situé à droite de l’écran clignote. 
1L , 2L ...: Indique le niveau de puissance de l’appareil de chauffage. 1H, 2H ...: Affichage de la minuterie 
du chauffage (Peut être programmé jusqu’à 9 heures. ). Er1: Surchauffe.

télécommande

Comme le montre la figure 1 ci-dessous, les languettes sont poussées dans le sens de la flèche et 
simultanément tiré dans le sens de la flèche de la figure 2 et la batterie est remplacée. Une nouvelle 
batterie est installé dans la même manière. Seule la pile CR2032 doit être utilisée.

1 2

CR2032



34

D’entretien et nettoyage

Attention ! Un nettoyage régulier et soigneux effectué par l’utilisateur permettra à votre appareil de 
fonctionner plus efficacement et de prolonger sa durée de vie.

Il est très important d’effectuer un entretien soigneux et régulier de l’appareil conformément aux 
recommandations formulées dans ce manuel afin qu’il puisse fonctionner efficacement pendant une 
longue période.

1.	 La propreté du réflecteur (miroir réfléchissant) et des tubes doit être vérifiée au moins une fois par 
mois par l’utilisateur. Les instructions de nettoyage et d’entretien doivent être respectées en cas 
d’encrassement.

2.	 Selon la quantité de poussière sur le lieu d’utilisation, la vérification des tubes et de la propreté du 
réflecteur doit être effectuée plus souvent.

3.	 Le câble d’alimentation et la fiche doivent être vérifiés pendant le nettoyage de l’appareil. S’il y a 
une déformation du cordon d’alimentation ou de la fiche, elle doit être portée au service autorisé.

4.	 Le réflecteur, le fil et la déformation du corps doivent être inspectés visuellement pendant le 
nettoyage de l’appareil. S’il y a une déformation, il faut faire appel à un service agrée pour les 
choses à faire.

5.	 Il est recommandé de changer le réflecteur tous les deux ans pour que l’appareil fonctionne plus 
efficacement. Le réflecteur doit être changé par le service autorisé. Un réflecteur propre assure une 
efficacité de chauffage maximale.

1.	 Votre appareil doit être éteint avant de commencer à nettoyer, son câble d’alimentation doit être 
débranché de la prise par sécurité et vous devez attendre qu’il refroidisse.

2.	 Si le réflecteur (miroir réfléchissant) et le tube de dilatation en carbone sont sales, ils doivent être 
nettoyés de l’extérieur à l’air sec sans ouvrir le fil protecteur de la cage de l’appareil, si possible.

3.	 La surface extérieure de l’appareil doit être nettoyée avec un chiffon doux en coton ou une brosse 
douce.

4.	 N’utilisez jamais de liquides corrosifs ou fondants pour nettoyer l’appareil. Ces matériaux peuvent 
endommager les pièces en plastique.

5.	 Ne nettoyez pas votre appareil avec des nettoyeurs à vapeur. 

Entretien

Nettoyage



35

Dépannage
Veuillez vérifier les points ci-dessous avant d’appeler le service technique pour les problèmes que vous
pourriez rencontrer avec votre appareil.

Cet appareil est étiqueté, conformément à la Directive 2002/96/
CE du Conseil, avec le symbole d’un conteneur à ordures barré. Cet 
étiquetage signifie que l’appareil, à la fin de son cycle de vie, ne doit 
pas être jeté avec les ordures ménagères. L’utilisateur est responsable 
de faire ramasser l’appareil par des entités appropriées responsables 
de l’élimination des appareils électriques et électroniques usagés. 
L’élimination appropriée des appareils électriques et électroniques 
usagés permet d’éviter les risques pour l’homme et l’environnement liés 
au stockage et au traitement inappropriés de ces appareils.

Problèmes Solutions

L’appareil ne
fonctionne pas.

•	 Vérifiez si la prise est branchée correctement

•	 S’assurer que l’appareil est en position équilibrée. (Votre 
appareil est doté d’une sécurité de balance.)

•	 S’assurer que l’interrupteur de marche et le thermostat 
de l’appareil soient en position ouverte et correcte.

•	 Vérifiez s’il y a un problème dans l’installation électrique 
de la maison.

•	 Assurez-vous de suivre les instructions d’utilisation.

•	 Si le problème persiste, contactez le service agrée plus 
proche.




